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B.Com. DEGREE EXAMINATION —
JUNE, 2010.

Second Year
(AY 2003—-04 to CY 2004 batches only)

Commerce
BUSINESS STATISTICS AND OPERATION
RESEARCH
Time : 3 hours Maximum marks: 75

SECTION A — (3 x 5 = 15 marks)
Answer any THREE questions.

1. What are the sources of primary data?

PS60 Hlaneudlem & TIBISET WTenel?

2. What are the components of time services?
sreld &rir CgmLim euflengullen BremE @ eTmhseT wrened?

3. Solve the assignment problem.
Job
A B C D
M 5 3 2 8
Man| N 7 9 2 6
O 6 4 5 7
P 5 7 7 8



EpsasaT gsS_(H sasams S| Claul :

Ceuenen
A B CD
M 5 3 2 8
weflger| N 7 9 2 6
O 6 4 5 7
P 5 7 7 8

Solve the LPP using Graphical method
Maximize z = 2x +10y

Constraints

2x+5y<15
6x <30
x,y=0.

&G 2 ¢ter LPP sewsdlaner  ecuenyuid epeod Sitey

Qe :
BUG@LmLLTSE 2 = 2x +10y
SLOUUTHSET :

2x +5y <15
6x < 30
x,y = 0.
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From the following data calculate rank correlation
coefficient

A6 5 4 3 21

B 56 4 2 31
Epsaenm_ clurmigeflelmbg  uflens  @enLuwmey
Q& (pen6Us STaTs.

A6 5 4 3 21

B 56 4 2 31

SECTION B — (4 x 15 = 60 marks)
Answer any FOUR questions.

Solve Transportation problem :
I I III IV  Availability

A 15 10 17 18 20
B 16 13 12 13 60
C 12 17 20 11 70

Requirement 30 30 40 50

Cuns@eursg Anssmends Sia| Calis
I II III IV Sl sss8miqwl

A 15 10 17 18 20
B 16 13 12 13 60
C 12 17 20 11 70

Coeneulii L 30 30 40 50
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Solve LPP simplex method :

Maximize z =10x +6y + 4z

Subject to

x+y+2<100
10x +4y + 5z £ 600
2x +2y +6z <300
x,v,z220.

&G 2 eter LPPgy Sliblibavgev apenmuldled Sie| Clauis :

BU@LmwLLrEs : 2 =10x + 6y + 4z
SLHUUTHSET :

x+y+2<100
10x +4y + 5z £600
2x +2y +6z <300
x,v,z220.

From the following data calculate :
(a) Laspeyre’s
(b) Paasche’s

(¢) Fisher’s Index Number.
Commodity po qo p1 q

A 20 8 40 6
B 50 10 60 5
C 40 15 50 15
D 20 20 20 25
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Bipisam_aupfldnss

(1) emev QT wpepm

(<=3) umeved (penm

(@) YagT GOUSLGH eretr sarTédlLcyLb.
Qum@peTser  po Qo P1 Q1

A 20 8 40 6
B 50 10 60 5
C 40 15 50 15
D 20 20 20 25

Find the yield when rainfall is 80 inches by using
regression equation

Mean S.D
Yield in kgs per acre 800 12
Rainfall in inches 50 2

Co-efficient of correlation 0.8
Qarryl Cumsdlen swerumigean eped 80 miEGeLD
e jeTe] @QME@GLEUTE 2 HUSH DiaTey eTeleU6Te
TG &S HEHeusaTad([hHbg < iPlueab.

gyram L elessid

Q@@ F&ESEM Sl GG 2 pusd 800 12
wepuiler iete| (SmiGosse) 50 2
L (Hmes Qe (1) 0.8
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10. Calculate mean, median and mode from the
following data :

Blood pressure mm/g: 80-90 90-100 100-110 110-120

No. of persons : 12 16 20 25
Blood pressure mm/g: 120-130 130-140 140-150
No. of persons : 12 9 6

gyra, @enLflene LHMID (P&H SeTES (Hs :
Qs (Wssb mm/g: 80-90 90-100 100-110 110-120
BLIT&ET : 12 16 20 25
Q&b i(psstb mm/g : 120-130 130-140 140-150
BLIT&ET : 12 9 6
11. A ball is drawn at random from a box containing

6 red balls 4 white balls and 5 blue balls.
Determine the probability that it is

(a) Red

(b) White
(¢) Blue

(d) Notred

(e) Red or white.

e QuLliguied 6 fsliy ubgiser, 4 GoueTenar LibgIseT
womd 5 B ubgsaleldHg g0 eumitiGer Lig 6
Lpgl CabEsOss LGS g

(=) sy

(<) OQoeucTener
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12.

(@) Heoid

() Slaly ey

(20) Sasly ez Celdmaearuims [OGEEE)
Blspsse smer Siomerd ClFul.

What is classification? Explain various methods of

classification with examples.

UMSLILMHSSD CTEDTD eTaan? eUasLIL(HSSISeler
LGeum euamasemari LUHM eT(MSgIGsT(HLem afleurl.
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